'Il! " AI! ! !,!

ECHNICAL INFORMATION 61045

P Modification of D-Shaped Side Handle
» HM1100, HM1130, HM1130C, HM 1200, HM1200B

P> All countries

»> Some components of D-Shaped Side Handle have been modified in order to enhance its durability:
1) Handle Spring 60 and Handle Base 60(2 pcs.) have been replaced by a one-piece component,
Side Handle Base 60 Complete.
2) Side Handle has been replaced by Side Handle and Side Handle Cam(2 pcs.).
Note: 1. Hex Bolt M8x150 and Wing Nut M8 remain unchanged.
2. Both new Handle and Side Handle Cam are already used in Model HM1202C.

» Current » New
Hex.Bolt M8x150
(265439-6)
3 2
&
1 4
| 1. Handle Spring 60 4. Side Handle Base 60 Comp.
PUS (344559-0) (152620-7)
| 2. Handle Base 60 5. Side Handle
(416396-3) [2 pcs.] (417003-1)
3. Side Handle 6. Side Handle Cam
2 (416009-6) (417002-3) [2 pcs.]
Wing Nut M8
(252640-2)
Side Handle Assembly Side Handle Assembly
(Part N0.134793-8) (Part No0.134909-5)
(consists of the six parts illustrated above.) (consists of the six parts illustrated above.)
Interchangeability(I/C)
Item No. Current part Qty | I/C New part Q'ty Note
 Handle Spring 60 | | No Side Handle Base 60 Comp._ ,
344559-0 152620-7 Interchangeab]e
| Handle Base 60 o S as a set
416396-3 b
See - :
below |SideHandle 1 | No [SideHandle 1
416009-6 417003-1 Interchangeable
__________________________ Side Handle Cam __ ’ as a set
417002-3
| Side Handle Assembly | |<_[Side Handle Assembly |
134793-8 134909-5
Item No.

Current part ; New part HM1100 | HM1130 | HM1130C | HM1200 | HM1200B
Handle Spring 60 ' Side Handle Base 60 Comp. | 071 072 072 904 091
Handle Base 60 070,072 071,073 | 071,073 | 072,094 | 074,093
Side Handle 1 Side Handle 074 075 075 074 072

' Side Handle Cam 095 095 094 095 094
Side Handle Assembly : Side Handle Assembly BO1 BO1 BO1 500 BO1
Interchangeability mark ; «—— means that the new part is substituted for the current.
Implementation
HM1100 : From serial No.8555E (Apr.,2000) HM1130 : From your order received by us in/after June,2000

HM1200 : From serial No.45559E (Apr.,2000) HM1130C : From your order received by us in/after June,2000
HM1200B : From serial No.14345E (Apr.,2000)



